®
@

K=-W1EKVDY T LED

T 7D 0.4MPa 0.5MPa 0.6MPa
I
{4.08kgf /cr } §5.10kgf/cmt } §6.12kgf /et }
254.8N 323.4N 392.0N
V7 HER
{26.0kgf} §33.0kgf} §40.0kgf}
1=y MEXZEVOY T MED
T 7D 0.4MPa 0.5MPa 0.6MPa
I
{4.08kgf /e } §{5.10kgf/cm’ } $6.12kgf /e }
3.0kN 3.8kN 4.7kN
Y7 MED
§312.0kgf} §396.0kgf} §480.0kgf}

Sig

ISR-T® z7&-nY24-
ISR-28T-520 2

Efl = mm

>t
BE= 2.6kg
HE = 0.9MPa (9.18kgf/cm’)
#RESEE = 0.05~0.6MPa
(0.51~6.12kgf /cm’)
FRRERE = —5~80°C
(L. FLyREDERME)
SRRK = 17-RUTELAA EOD

SHE
*-n=SUJ2
#r- = SUM
Ak= A6063
775= A6063
r-=SPC

95/8" N
(15.88mm) E 4
57 "
i
\ o ®
I N
= ETCD
40
f#40 (Re1/4"



